
 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Northbound = 20, 40, 60, 80 

Southbound = 16, 32, 48, 64, 80 

80 minutes = 1hour 20mins 

15:00 + 1 hr 20mins = 16:20 

360 miles ÷ 15 = 24 gallons 

4.5 x 24 = 108 litres 

108 x 1.37 = £147.96 

15

500
 = 

3

100
        or      0.03          or      3% 

Y = 3x – 4 

Y = 3 x 0 – 4 

Y = 0 -4 

Y = -4 

Y = 3x – 4 

Y = 3 x 2 – 4 

Y = 6 -4 

Y = 2 

-4 2 

Pg 1 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

$130 

c 

a 

b 

a² + b² = c² 

17.5² + b² = 18.8² 

306.25 + b² = 353.44 

b² = 47.19 

b = 6.87 

 

B 

B 

B 

W 

W 

W 

W 

T 

T 

T 

B 

W 

T 

W 

T 

B 

Pg 2 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 and a half 

28 

f x χ 

26 

 
76 

72 

64 

40 
112 278 

278 ÷ 112 = 2.482 

midpoint 

43 

49 

55 

61 

mp x f 

172 

588 

1,045 

305 

40

 

2,110

 

2,110 ÷ 40 = 52.75 

Circumference  

𝜋𝑑 

3.14 x 65.5 cm = 205.67 cm 

 

205.67 x 3509 = 

721,696.03 cm 

= 7,216.9603m 

= 7.2169603 km 

 

 

Pg 3 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

𝜒 + 6𝜒 + 3𝜒 + 20 + 180 − 2𝜒 = 360° 

8χ + 200 = 360° 

8χ = 160° 

Χ = 20° 

 

Angles on straight line add to 180° 

1

2
bh 

1

2
 x 4.6 x 3.2 =7.36cm² 

𝑎+𝑏

2
 h = 

9+12

2
 × 5 = 52.5 cm² 

 

 
Pg 4 

9cm 
𝜋𝑟2 

3.14 x 4.5² = 63.585cm² 

 

 
Area = 

63.585cm² 

11cm 

𝑉𝑜𝑙𝑢𝑚𝑒 =  63.585𝑐𝑚² x 11cm = 699.435cm³ 

22litres x 1,000 = 22,000cm³ 

22,000cm³ ÷ 699.435cm³ = 31.4 or 31 mugs 

 

Χ + y 

4x 

                 2𝑥 + 𝑥 + 4𝑥 + 𝑦 + 6𝑥 + 𝑥 + 𝑦 

Simplifies to:               14x + 2y 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Pg 5 

9m 

P = 3r -7 

P + 7 = 3r 

𝑝+7

3
 = r 

Alternate angles are equal 

60° 

180° - 55° - 60° = 65° 

70°

 
 70° 

70° 

40° 
70° 100° 

Angle BAC = 70° because alternate to angle EDA 

Angle ABC = Angle DAB (two angles in isosceles are equal)  

Angles in a triangle = 180° - 70° - 70° = 40° 

Angles on a straight line = 180° - 70° - 40° = 70° 

Angles in a triangle = 180° - 10° - 70° = 100° 

 



    

 

 

Pg 6 

13

50
 = 0.26      

9

40
 = 0.225          22% = 0.22 

 

22%        
9

40
             

13

50
 

 

 

90° x 

x + x + 90° = 360 

2x + 90° = 360° 

2x = 270° 

x = 135° 

360° ÷ 5 = 72° 

72° 

2y + 72° = 180° 

2y = 108° 

y = 54° 

y 

2,  6, 8, 8, 11 


